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9) ¥R & B@MIR Q) STee 3) 3R BRBIS g) ST HeAih
Which scientist is considered as the father of Modern Chemistry?
1) Laurent de Lavoisier 2) Dalton 3) Ernest Rutherford = 4) Ivanovich Mendeleev

gEie I fAEmie! Hue A 3R ?

a) IR IS 9t 3TR. b) SARIHIRSAERT Sfiaw 31erad TR,
IR SR :
q) Fh (a) R) Th (b) 3) (a)a (b) qrel 8) (a) T (b) Q! AR

Which of the following two statements is correct ?

a) Chemistry is the superior most science.

b) There can be no life without Chemistry.

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)

fremiten! o Ing amg ?

a) g MG oitvelt "afife sitveiter/Iamiier 31fed Swwh IR,

b) IARIFIRATAT GTdd GRUMHMET ARG AR 3MaR. e,

ggift S :

9) P (a) ?) PIS (b) NTF @I b)) 8) (2)T (b) IEE T
Which of the following statements is correct ?

a) Man made medicines are more useful than the natural medicines/remedies.

b) The harmful effects of chemistry are controlled by the helpful chemicals.

Answer Options :
1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) Neither (a) nor (b)
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gNT AR A FEUNT I ?

9) ERATE IS SRISFAT TR A TR 0T,

Q) AR ST faRea S eTiuRIT TGO o,

3) Sifde TR Affhar FafduT /TR o,

g) RIS St TfYr e o JafeRuIRes JedTe TR v,

By green chemistry, we mean

1) Producing chemicals of our daily use from greenhouse gases

2) Performing chemical processes which use green plants

3) Performing only those reactions which are of biological origin

4) The use of non-toxic reagents and solvents to produce environmentally-friendly products

fareTTTran Wrefierdd! BT SiteM Tgdeik FRisuaR /ey sl ?

9) SIS ?) Fears 3) FrefRkarg 8) dufehes 3F[Ma
Which of the following approaches of science relies on systematic observations ?

1) Empiricism 2) Rationalism 3) Determinism 4) Personal experience
TToBuD! G uaref Pror ?

%) g 9) g @) M g8 §) ST arft
i SR :

9) §, @, MU S Q) 31 had 3) 9 B Q) & Had
Indicate which of the following is a pure substance?

a) Iron b) Gasoline 3) Cow's milk 4) Sea water
Answer Options :

1) (b), (¢c) and (d) 2) (a) only 3) (b) only 4) (c) only

GIHBUD! PIUT e TS s9 Tal ?

URIT, S, BRES, T,

9) ORI ) AN 3) Bde Y) e
Which of the following do not belong to the group ?

1) Mercury 2) Gold 3) Iron 4) Sulphur

At PHOIT I DI ?

9) fary Q) IES 3) Sfegmifad g) fa=T
Which is the 'hardest' material ?

1)Lead 2) Iron 3) Aluminium 4) Diamond
EIC LRI GRECING RN

31) e g) A9 %) de 3) Iy

I TAATAR Tt shAaR] fosgr:

q) &, g, 9, )T, B, T, A 3)3, 9, %P, S 8) P, S, 3,9
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Consider the following metals :
a) Platinum b) Gold
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c) Copper d) Lead

Their correct arrangement in the increasing order of density is :

1) (c), (d), (b), (a)

Q) D
shines in dark.
1) Phosphorus 2) Sulphur

GIAIGUD! PO T TG ?
9) dieS s ) TS 38

2) (d), (¢), (b), (a)

3) (@), (b), (©),(d)  4)(c),(d), (a), (b)

Which one of the following is not a compount ?

1) Red lead 2) Black lead

Greftet i fagmmdt piurd g™ sRisR 3med ?

3T) HF a7for HyO g gdlsr S a7med.
) CHy 37for COp & gefta | Areia.
&) COp T SOp & gl T e,
ggif S :

9) 37 37T § Q) § 3T &

Which of the following statements are correct ?

a) HF and H,O are polar molecules.

b) CH, and CO, are non-polar molecules.
¢) CO, and SO, are non-polar molecules.

Answer Options :

I)aandb 2)bandc

9) BIRRH Ahe Q) ﬁ'ﬁﬁww

Plaster of Paris consist of the following :

1) Calcium Sulfate
3) Calcium Carbonate

AT graewm ey Wioftel MEaT AHAYT glal

9) B PEFT
3) HIRRIY Hethe

Bleaching powder consists of :
1) Calcium Carbonate
3) Calcium Sulfate

3) A 8) BRIS

3) Gold 4) Iron

3) et g) I T

3) Silica 4) Slaked lime

3) 31 3T & §) 3, § 3T &
3)aandc 4)a,bandc

3) PR PEFC  ¥) TIRRE HEe
2) Magnesium Sulfate

4) Magnesium Carbonate
Q) HRT ERUIFARISE
) TAfRIT HEHT

2) Calcium Hypochlorite
4) Magnesium Carbonate

TERTE AT ARRY HaT gauRter drmt : 9= fasm/ 9y
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a) fopanase (i) CuCO,. Cu(OH),
b) Terse (i) AL,O;. xH,O
¢) Herdrse (iii) ZnCO,
d) TheRTse (iv) Fe;0,
(v) Fe,0,4
(vi) CuFeS,
(vii) Na,AlF,
(viii) ZnS
Tt SN

(@ () (¢ (@
9) (i) (v) (vi) (viii)
) (viD) (v) (1)  (viii)
3) (viD) (v) (i) (i)
8)  (vil) (vi) (viii) 3)

Math the columns :
I 1|
a) Cryolite (1) CuCO;.Cu(OH),
b) Magnetite (i) ALO4. xH,O
¢) Malachite (ii1) ZnCO,
d) Sphalerite (iv) Fe;O,
(v) Fe,04
(vi) CuFeS,
(vii) Na;AlF,
(viii) ZnS

Answer options :

@@ () (o) (@)
) @) (v) (vi) (viii)
2)  (vil) (iv) (1) (viid)
3) (vi) (v) (1) (i)
4)  (vii) (vi) (viii) (1)

s PR R Are o ?

a) SR arqumUr Alp03.25i0.2Hp0 3.

b) TISIEE & AT WS &R 3T,
g ST :
9) Fge5 (a) R) Ba (b)

b) Siderite is a mineral of Aluminium.
Answer options :
1) Only (a) 2) Only (b)

3) () @ (b) T
Which of the following statements is/are correct?
a) The ore of Aluminium is Al203.25102.2H>0

3) Both (a) and (b)
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8) (a) T (b) Qg AT

4) Neither (a) nor (b)
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g RRERIT SRR G PRUTRS ... g1/2 3R TR,

q) Teh guaTEr Al ) Teh JIfSI™ gFHCTHIThe

3) (9) snfor () 8) aferiich! pIUCrel Tt

The chemical reagent used to remove permanent hardness of water is / are

1) only washing soda 2) only sodium hexametaphosphate
3) Both (1) and (2) 4) None of the above\

PHIUI 30T ATET ?

q) groft R) & 3) et 8) &g
What is not a mixture?

1) Water 2) Air 3) Soil 4) Chalk

IEPISTd ORISR AN 8 YIaRul SR FHIHIUNT P3e H3ur TR gl ?
q) TGP JAMT IREST Q) Paeiol ST ST 3) ST MM FaesT  §) Bacisl 3TN Aeerst

Upon hydrolysis, sucrose yields equimolar mixture of :
1) Glucose and ribose 2) Fructose and ribose
3) Glucose and fructose 4) Lactose and maltose

a1fcrer aRuTHSIRD gRefHTeD FISIHE 3 ...... SO ... URIT TR PRAICT.

q) ST 3T AR Q) ®TEH 3T |ifeH

3) PR Fhe T =Y ) PR Hethe AT dege Tehx

The most effective fungicide, Bordeaux mixture, is prepared ....... and .....

1) Lime and Sulphur 2) Lime and Sodium

3) Copper sulphate and Lime 4) Copper sulphate and Wettable sulphur

Gt Pral 8 Dlaied Jexdar dfee 3Mmed ?
31) fesrer uRumy ) SIS %) HaAdes fIeRor g) gexdic §al
g IR :

9) 31, § 3T B Q) 3 3§ 3) 31 3Mftr & Q) g 7M1 §

The following are some of the properties of the colloidal sols :

a) Tyndall effect b) Brownian motion  ¢) Maxwell distribution d) van der Waals forces
Answer Options :

lI)a,bandc 2)aandb 3)aandc 4)bandd

q) STl U] IuTeT UM Al 3R, Q) TIUIT U] gERT SR,

3) T (9) 3N () et IR 8) R (9) ofr () AT TP

Oil and Water do not mix because ............ .

1) Oil molecules are bigger than that of water 2) Molecules of water are polar

3) (1) and (2) above statements are correct 4) (1) and (2) above statements are wrong

TERTE AT ARRY HaT gausten dmt : 9= fasm/ ag
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3T g’ FIHBUD! DIV DIATSH TG Hes FH0T Bl ?

9) 53 IR frIeseT™ Q) TR GaT I
3) TFueref aRI fiesea™ ) 59 gard fERTesea™
Which one of the following colloidal systems is represented by fog?
1) Liquid in gas 2) Gas in liquid 3) Solid in gas 4) Liquid in liquid

9) FHCIDIDHRIT R) U 3) Acwa ) BT

Isotopes are separated by :

1) Crystallisation 2) Distillation 3) Sublimation 4) Filteration
Q) 3rmad WRUR

'M' g Joieed SRR e A& Ca, M 37T Ba g ... 3T%.

9) Be Q) Mg 3) Sr 8) 1

The element M in the Dobereiner triad Ca, M and Ba is

1) Be 2) Mg 3) Sr H1

9) Ca, Ba,Ra, Ta 3) Ca, Ba,Ra, Pa 3) Be, Re, Ge, Se ¥) Na, Ca, Ba,Ra
The set of the elements belonging to S-block is .........
1) Ca,Ba,Ra, Ta 2) Ca,Ba,Ra, Pa 3) Be, Re, Ge, Se 4) Na, Ca, Ba,Ra

GTefleidh! PIvT e fHH greed gl 2

9) BeCI2 R) PCI, 3) BCL, g) e e
Which of the following does not obey octet rule ?
1) BeCI2 2) PCI, 3) BCIL, 4) All of the above

q) e Q) aifert 3) ST 8) TR PIUKTE! ATE
Sb is the chemical symbol of the element ......
1) Seaborgium 2) Antimony 3) Arsenic 4) None of the above

TQrE ST AR ... T QN qoedined et e sewdl.
9) B 31for Si Q) Li a7t Mg 3) Be amfor Al ) Nodd ad

In the long form of the periodic table, the diagonal relationship is found between the following
pairs of elements :
1)B and Si 2)Liand Mg 3)Beand Al 4) All of these

faRatifes AR ... a1 Fisufimed / Tomed fOheaT Fed Joeed 3R,

q) GAX HHA Q) ufger sifaergs 3) ufgel Hepur 8) TN 3ffdcTgs
Feisa member of ...... series of Periodic Table.
1) 2™ transition 2) 1** actinide 3) 1* transition 4) 2™ actinide

TERTE AT ARRY HaT GEuRIer A : /=g s/ qu
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3fact ARORIET PIeRESIa SHhg Sofdids ST Wiefiel MeHed O¢ g

q) TR SRR St Q) URATI] AT 3) farer SRoreHeaT 8) Tl ore
As you go from left to right across a Period on the periodic table there is decrease in :
1) First ionization energy 2) Nuclear charge

3) Electronegativity 4) Metallic character

MY ARV Hosaeare! Hieof & AT ... TR PN,

) SUEEIH Q) g W 3) 3D g) Torer
In the modern periodic table elements are arranged according to their ......
1) Mass number 2) Neutron number 3) Atomic number 4) Properties

HRICT THTOT, 3TTad AR Jefgedrat TeT ... ST STER 37T,

q) AT IS Q) S TIAA 3) T AT 8) 3T AMHRAM
According to Moseley, the basis for the periodic arrangement of elements is ..........
1) Atomic weight 2) Atomic mass 3) Atomic number 4) Atomic volume

3T STARIROMeT S BT g1 afracit ore =R ST Wiefietuds! Hivrt e aRIER 31ed ?

a) J&9 Glelt ST aTe. b) T Gl ST Bt 8.

c) STdlehgd Iofelhs ST AT, d) SHterg Sordidhs ST AT I,

Tt SR

1) (a), (d) ?) (), () 3) (b), (@ 8) (b), (c)

In modern periodic table, which of the following statements about atomic radius are true?
a) Increases from top to bottom b) Decreases from top to bottom

c) Increases from left to right d) Decreases from left to right

Answer Options :

D) (a), (d) 2) (a), (¢) 3) (b), (d) 4) (b), (©)

3) SURTET, AHEATHD
ifrae fFRTfa forclt SmRTeTHeY 3Tcosd) ?

) R )3 3) 8 8) 9
Oxygen occurs in nature in ............ isotopic forms.
1)2 2)3 3)4 4)1

9) 03 Q) 0% 3) 0R g) 09

An atomic number of Tritiumiis......

1) 03 2) 04 3) 02 4) 01
TSI MU STRAMRISIIN Solt fad! SR ?

9) g eV Q) 93.¢ eV 3)oeV g) 9 MeV
How much is the ionisation energy of the Hydrogen atom ?

1) 786 eV 2) 13.6eV 3)0eV 4) 1 MeV

TERTE AT ARRY HaT GEuRIer A : /g fasm=/ a¢
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STUhGEpTHITC ST FHUIREIT FHUT PRUMT Setdra il Groll — 3.8 eV 3718, Tl foR=am YT heiciier
o1t fepett ?

9) - 9497 Q) - 38eV 3) - 949¢eV ¥) - 3. eV

Energy of the electron revolving around the nucleus in second orbit is - 3.4 eV. What is its energy
in third orbit?

-1.511] 2)-34¢eV 3)-1.51eV 4)-13.6eV

NI ger RS 9o €9 oTId, Sicgl MR I Sl aqdf & ... 3R,
9) >0 ) <0
3) =0 8) Tk Soll gl ST fAgRTHeD seTren e el

The EMF of a chemical cell is positive, when the free energy change of the reaction is ......
1)>0 2)<0
3)=0 4) No relationship between the free energy change and EMF

DU 3R So1t (IE) Jafd ST 318 ?

1) Mg ?) Mg 3) Mg* 8) oI 7
Which has maximum Ionization Energy ?

1) Mg 2) Mg* 3) Mg* 4) All of the above
FIE CoIFeIRTSSd SR AHE ... Gob g 38,

q) AT FHISA JATDR Q) T YR Tolegdl STHR

3) P ST FAIRTET STUET ARET HRAT ) Bled ST FANTA SelagiTal ARG STRAH!

Net diploe moment of carbon tetrachloride is zero because of ......
1) Its planar structure

2) Its regular tetrahedral structure

3) Similar sizes of carbon and chlorine atoms

4) Similar electron affinities of carbon and chlorine

q) 399 H Seidgia clec 2) ]9 M Selag e

3) 339 W gelagA clee 8) Q89 WM S Eloc

Energy equivalent of mass 1 uis

1) 911 MeV 2) 921 MeV 3) 931 MeV 4) 941 MeV

9eS3R 7 UL, ‘M’ FaA ... goldel- ST,
q) R Q) & 3) ¢ 8) 9g

ERTE AU ARRY HaT gauRtet drt : 9= fasm/ 9]
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The number of electrons present in the 'M' shell of 165" atomis .....
)2 2)6 3)8 4) 16

'3 el BTl q e UhMaT SR SRISR G SUeTed IR 2T,

3’ T BRI A
I) 90 ST a7) R0q,Ne
I1) 92 i 9) R34qNa®
10I) 93 =ggi=a 3) 1% FO
IV) 90 =ggi= g) o Mg®
qift SR :
9) I 3 )T 3, & 3) I 3,9, %8 ¥ I 3,938
n s on s | B on s
Im 9, s I ¢, s I ¢, s o g
vV 3, @& | \YAC| vV 3 @ V 3,9 3
You may have more than one correct match in Group 'B' for each item in Group 'A’
Group A Group B
I) 10 electrons a)* Ne
I1) 12 protons b) 2311Na®
IIT) 12 neutrons c) 199F®
IV) 10 neutrons d) 2412Mg2®
Answer Options :
1) I a 2) I a,c 3) 1 ab,c,d 4) T ab,d
oI d oI d I d n d
I b,d I b,d I b,d Im b
IV a,c IV a IV a,c IV a,b,c
cgTegal [Ni(CO),] fsti /Sifeet (complex) HEA fosils seterarel ARl ..... IR,
) 0 Q) 1 3)R 8) 3
The number of unpaired electrons in tetrahedral [Ni(CO),] complexis ......
1)O0 2) 1 3)2 4)3
ffRTet Picd FaR n = ¢ off FeEferd wepun siifdcewrd! | fadt 3R ?
9 R R) ¥ 3) % ¥) 9
What is the total number of orbitals associated with principal quantum numbern=4?
1)2 2)4 3)9 4) 16

AT fORA=aT hald TR SRR ..., SoTdrga 3R STeheTe].

9) 3 Q) A« 3) ¢ g) 33
The third shell of an atom can have a maximum of .......... electrons.
1)3 2) 18 3)8 4) 32

ERTE AT ARRY HaT gEuRIer A : /=g s/ 20
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et fohar Tmoft Seaciean ae 9 (gfRa aRoaRITS! GTetiefieh! DU PH1e- TRl dhdT TR
EIES NI

9) B - IR ) P - 93 3) F - 9% 8) AihT e
Which of the following carbon isotopes is used to determine the age of the objects of plant or
animal origin ?

1)C-12 2)C-13 3)C-14 4) None of the above
.............. I eI ST NU]_ 3RAC e,

[H=1,C=12,0=16,1=127]

9) Y0 IH IASH Thich ) R IH DA SINTSS

3) Y ¥ oot 8) 90 I9 g aKg,

The maximum number of molecules are present in
[H=1,C=12,0=16,1=127]

1) 250 g of iodine crystals 2) 22 g of carbon dioxide
3) 45 g of water 4) 10g of hydrogen gas

Afsaeht 1o e 99 3R 3N AT R AT 23 IR TR MY ... IR,

q) 99 =ggiA anfor 93 el R) 9 WM aTfdr 99 gelrerT
3) 99 Solage MMT 93 = 8) 93 gelag I 99 =g
The atomic number of sodium is 11 and its mass number is 23. It has

1) 11 neutrons and 12 protons 2) 12 protons and 11 electrons
3) 11 electrons and 12 neutrons 4) 12 electrons and 11 neutrons

aRyquT HicH T ' ... 3R, R T Ag-2eT Aefiel Solaci=d ot PHIeT FET ... 3R,

9) 2/ +1 ) 2{21+ 1} 3)2{l+1} g) [+ 1
The maximum number of electrons in any subshell with orbital quantum number 7 is .
1) 2t+1 2) 2[22+ 1] 3) 2[2 +1] 41+ 1

@IcficTdehl BT FBICH BT T 3T 3 7

9)n=],l=0,m=0,s=+L 2?)n=4,l=0,m=3,s=-#
2) 2
)n=11=1,m=0,s=- 2]) : 28)n=3,l=2,m=2,s=+ 2]
Which of the following set of quantum numbers is not possible?
Dn=11=0m=0,s=+—1— 2)p=41=0m=3s=-—1—
2) 2
Yn=11=1,m=0s=- —L 2n=31=2m=2s=+ —L—
2) 2

3T TR SRR T3, 3TehT HUl IcAfia PRal, SITIes AT WIeH AT =g ... - BHT
gl ?

q) W R 7 37T =g 7 Q) WIEH 9 7 3MfoT =g ? 7

3) Wi R 7 3o =g q 7 Q) WIS 9 7 3MfoT =g 9 7

TERTE AU ARRY HaT gauten dm : 9= fasm/ 29



19)

0)

20)

R9)

21)

R)

22)

23)

23)

W)

24)

)

For Private Circulation Only

In alpha decay, the unstable nucleus emits an alpha particle reducing its proton and neutron by :
I)Zby2andNby2 2)ZbylandNby2 3)Zby2andNbyl 4)ZbylandNbyl

3R Cu 3701 Cu*! o AT Seiagi™idh DI ... 37Ted.

1) 3d'°, 45% 3d%,4s°  2) 3d% 4s';3d% 4s°  3)3d!°, 4s!;3d',4s°  4) 3d8, 4s'; 3d'°, 4s°
The correct Electronic configuration of Cu and Cu*!, respectively are ......

1) 3d'°,45% 3d%,4s°  2) 3d% 4s';3d% 4s°  3)3d!°, 4s!;3d',4s°  4) 3d8, 4s'; 3d'0, 4s°

B UrCIaaRISSaT U] ......... HHROMH TIR Il

9) spd ?) spd? 3) spid? ) spid
Phosphorous pentachloride formed by ...... hybridisation.

1) spad 2) spa 3) sp3d? 4) sp3d

fetea Tt Perdiel getdgrTea Sieamele — SaT. faqd el - fageh siel (st - fas); sfe
e - dfer N (.5, - §.57.) T e St - e St (R sw, - .91 Rt o ...
3R HI &I ST,

q) A, - S < s - g5 < g5 - g5,

) IS - s > s - 50 > g5 - d5.

3) d - g9 < S - S < s - g5

8) IS, - §50. > g9 - g9 > s - s,

The electrostatic repulsion between electron pairs such as lone pair — lone pair (1p. — Lp.),
bond pair — bond pair (b.p. — b.p.) and lone pair — bond pair (1.p. — b.p.) in a given valence
shell decreases in the order of

1) Lp.-ip. <p.—b.p. <b.p.—b.p. 2)1p.-Lp:>1p.—b.p. >b.p. — b.p.

3) bp.—b.p. <Lp.—Ip.<Lp. +b.p. 4) Lp.—b.p>b.p.—b.p.>Lp.—Lp.

T 9C0¢ ALY PIVAT SUST MMl fRTerepr 31u] Ragiaran ee BIaeT ?

q) ST Sleed Q) IR IRRD J

3) el 3T JifReies g) ogdiod

In 1808 which English school teacher proposed the Atomic theory?

1) John Dalton 2) Sir Isaac Newton  3) Plato and Aristotle 4) Leucippus

ST MY ... T AT,

9) W . AT Q) Mes A 3) o Tsfad 8) BEPIS
The Discoverer of electron is :
1)SirJ.J. Thomson  2) Gold Stein 3)James Chadwick  4) Rutherford

"'TepTa Jel SelagiTd T FUT MMMOT SR FaA FfeTd awul eread o’ g pioft gafder ?
1) TS ?) ERRH 3) 3 sl y) Ho i

TERTE AT ARRY HaT GEuRIer i : /=g s/ 2
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"It is impossible to determine simultaneously, the exact position and exact momentum of an
electron." Who proposed this ?
1) Schrédinger 2) Heisenberg 3) de Broglie 4) Max Planck

TFORTEA] 37U fighciian] GTetieTdehl IuI oTer FaEqur RSN 2

9) TROT S e ?) ERIRIST ST TEThl

3) SotagM, WIS MO =gid AUHET T 8) I FRRAT

Which of the following properties of atom could be explained correctly by Tompson Model of
atom?

1) Overall neutrality of atom

2) Spectra of hydrogen atom

3) Position of electrons, protons and neutrons in atom

4) Stability of atom

BERPIST FAVITAT FINTF T 1G0T, ' SIEl OL—bUITd BIgt DI faaer el Tl BRI OL—HoT
37) UG ST 3TTel,

) Soldci~Ihs IMhNT HIa.

D) TolFe—AR I,

ENEEEARCALRAINERISVARCHE N ECIIAI RS

9) Beh 3T ) Wb g 3) Bh b Q) § 37T &

One of the observations of Rutherford's thin gold foil experiment was "some O-particles got

deflected by some angle". The reason was Ot-particles.

a) came closer to the nucleus.

b) were attracted towards electrons.

¢) collided with the electrons

The correct option/s is are

1)Only a 2) Only b 3) Only c 4)bandc

BRI YIRS PO FRI&TT o gfST URighl! aTaed Fotul. SRSIGSeA JeTa 31Tg ?

37) IEAET Q- g GAUTAIRE TR SRR e,

) FIE Q-0 HIEl DI fader STTel,

&) HRT S OL—H0T FAUTEaRr JMeesy IR AT e Sac e,

i SR :

9q) Beh 3T ) b g 3) Bh B ®) 31, § 371 &
Which of the following observations of Rutherford's experiment is impossible to understand
scientifically with the plum pudding model?

a) Most of the Ol-particles passed straight through the thin gold foil.
b) Some of the Ot-particles got deflected by some angle.

c) A very few Ol-particles bounced back towards the source.
Answer Options :
1)Only a 2)Only b 3) Only c 4)a,bandc

TERTE AU ARRY HaT gauten am : 9= fasm/ ?3
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I TR WeHIeTueh! PO [IET 37ee SR,

37) STUUET AT HERIT SMHRAM PHHI SRIT. §) SUUET T TR MDA PHHT SR,
&) STUMET AT DHCRD BRI SR 3. ) STUUE AT AT SBRAM ST 3R,
Tt SR :

9) 31 3T § Q) F MM § 3) 31 3T § ) IRIAUD PR AT
Using the scientific logic, predict which of the following statement/s are correct?

a) size of the cation is smaller than the corresponding atom.

b) size of the anion is smaller than the corresponding atom

c) size of the cation is bigger than the corresponding atom

d) size of the anion is bigger than the corresponding atom

Answer Options :

I)aandb 2)candd 3)aandd 4) None of the above
TIEINBGSCAT S AR JIGHH eI ITeAT Gaiel BoiHed Tehiad SR, .

31) W 9) =g %) gelag 8) a¥iet wd
gt SR :

q) Wk 3 Q) Wh 37 30T § 3) &k B g) Bh
Practically all the mass of an atom is concentrated in its

a) Protons b) Neutrons ¢) Electrons d) All the above
Answer Options :

1)Only a 2)Onlyaandb 3) Only c 4)Onlyd
UEES 3MTL........ TSGR BT 3qSB S,

9) RvaieNID Q) 3TN 3) fgem ) a1 S e
Atoms are held together in a molecule by........

1) Intermolecular forces 2) Intramolecular forces

3) Dipole-Dipole forces 4) Van der Wall's forces

9IS F ReR PR FFT IR ?

37) T 37 TEUIST 37U hoehiciics TehUl Mici~Tdl e,

q) 3{U] IR FEUST 3] hgeblciies UpUT M= & =Igi=da! AT,

Tt S :

q) e 3 ?) PR 3) Qg 31 amfYT 9 8) arg T
Which one of the following statements is/are incorrect?

a) The number of protons in a nucleus is called its atomic number.

b) The total number of protons and neutrons constitute its mass number.
Answer Options :

1)Only a 2)Only b 3)Bothaandb 4) Neither anorb

AT HGHHNTT STUHHID STTOT 37U SIAT fAfder SRITd, o1 RISl Heedl FHH 3ied, TR T ...,
EYURIGE
q) FERTD Q) AR 3) ST ) IRIAUDT Tpg! TRl

TERTE AU ARRY HaT gauRter dr : 9= fasm/ ?y
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If nuclides have different atomic numbers and different atomic masses but the same number of
neutrons, then they are known as
1) Isotopes 2) Isobars 3) Isotones 4) None of the above

QM STUT SRR (Isobar) FUI SR ...

q) DICTeT AT Qg SUHEY ARG SR

Q) gITH AT QR ST AR SR

3) I ST Hicie aRIT Qiel STUEeY ARG SRIe
8) =gl A0 MISTTell SRIST Qreal SUHE IR RIS
Two atoms are called Isobars if ......

1) Number of protons in both atoms are same

2) Number of neutrons in both atoms are same

3) Sum of number of protons and neutrons is same

4) Sum of number of protons and neutrons is different

gTefter fIeam et

a) 1] g fofavRGSeaT SR 3R,

b) Shgariad) AR A geldei-ar KT fIgaIR 7 dgdradicl AU YR AHH SR,

R SR :

q) Q8! ID R) Q! IR 3) () NR, (b) TP 8) (a) TP, (b) RK

Consider the following statements :

a) An atom is electrically neutral.

b) The negative charge on nucleus is equal to the total negative charge of all the orbiting electrons.
Answer Options :

1) Both are incorrect 2) Both are correct
3) (a) correct, (b) incorrect 4) (a) incorrect, (b) correct
GTetietid! g e fasT,

q) Ul SIST HET AT S HEJAT SRoTAT THEM TR B,

Q) SIS U] PEHL QT DghMEe HFII Felded Bl HIR HH .

3) Uhd AUIIT STUHETTUET SfCATTST UL PardT ol &l STl IR,

8) o*, ¥, &%, SeATG! fargil SffCaIeT U] e qeffdear S,

Choose the incorrect answer :

1) Bonding molecular orbitals are formed by the additive effect of the atomic orbitals.

2) The electron density in the internuclear region in bonding molecular orbital is very low.

3) anerey of the antibonding molecular orbital is higher than that of the combining atomié orDitals
4) Antibonding molecular orbitals are represented by 6*, *, 8%, etc.

0.03Y FoAFE Elec ol IFetell =g Fgurel —

q) 3iifSdre =g 2) TReHT =T 3) dTa g 8) Hg =g
A neutron having energy of 0.025eVisa/an ........

1) Thermal neutron 2) Epithermal neutron

3) Fast neutron 4) Slow neutron

TERTE AU ARRY HaT gauRtet |t : 9= fasm/ 2y
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9) e ?) gTI 3) e 8) aleih! BrEtel ATl
The mass of a neutron is equal to that of a/an ......
1) proton 2) electron 3) meson 4) None of the above

Tl PIUTT VAL =g Tl ?

q) SYcRed R) BRIGISH 3) fofeaw 8) gferm
Which atom does not contain neutron ?
1) Deuterium 2) Hydrogen 3) Tritium 4) Helium

S ol Tl TSI DIV T BRAdd ?

q) Has RO a2 PR,

R) Faw AR T I[EfD 2.

3) Th SR Plecied] SelaaTdl AT,

@) fafepRIOIT gRferm 3TTepR 3TIOT IRAITeh TeT, SR USeied] Seldrglal HReAT SO FHEAIGR gl
MY Setdel-Tat T,

What factors determine the intensity of secondary electrons?

1) Only the shape of the irradiated object.

2) Only the chemical composition of the irradiated object.

3) Only the number of electrons ejected.

4) The size and chemical composition of the irradiated object, the number of electrons ejected
and the numberof electrons reabsorbed by the surrounding.

fE=ITE HTei=TaT Th 0] BT DI SR ST .......... YTl BRelell ST,

9) TNV ) ag:ﬂrﬂ'gﬁ'a 3) %@:Eﬁl’ﬂ:ﬂ'& %) Wﬁﬁ
In a diamond, each carbon atom is surrounded by other carbon atoms.
1) linearly 2) tetrahedrally 3) tetragonally 4) octahedrally

fE=TeaT ERamHEd P o 3] DIV TG AT ST ?

q) oSS! R) ST 3) Silacego! 8) ERFH!
In the structure of diamond, carbon atoms are arranged
1) Tetrahedrally 2) Hexagonally 3) Octahedrally 4) Trigonally

SR ST HE el Seldrei SRIUIRIT JeGeTd Sied il ¥ :n=2,[=0,m=0, s =+ 1/2
3T R T ISGH ....... 3R,

9) feiferm ?) aRferm 3) IRA ¥) ERISIOH

If the valence shell of an element has only one electron having the following set of quantu

numbers :n=2,/=0,m=0,s=+ 1/2, then the elementis ......
1) Lithium 2) Beryllium 3) Boron 4) Hydrogen

... 7 NuEe givorrt fega argef &t L 11 3TULEAT / 3TUfeAT fSRrel R,
q) T, TS Q) ST, FANA 3) SR, ARG g) P, TR

TERTE AU ARRY HaT gauRter drm : 9= fasm/ :¢
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The resultant dipole moment in NF, molecule is ...... and in the direction of ...... atom/s.
1) low, nitrogen 2) high, fluorine 3) high, nitrogen 4) low, fluorine

GTefieTdhl Do T /FITHE FGHTT SR JoGedred] ST 3T AR SIeT 37/
q?

9) %k BrF3 ?) % BrF5 3) Qgr (9) 3for () 8) AT DU AT
In which of the following compounds does the central atom have expanded octet?
1) Only BrF, 2) Only BrF, 3) Both (1) and (2) 4) None of the above

TG JMTAR3MTIS TRIes 3TN AT AU Teiies, IR Fe dTethd AMFId: 8 gqreifdt
3R,
9) Y& T Q) Y& A1 3) §HE 8) I Prerar et

PR 3faTss (Ca0) T e 3Mdce HBAuarrd

q) DIRTTAT ] DB QT SATGT SN PASTTAT IR SIS

Q) IR 3 g U goscrgle SfeaorTedl U Slciles

3) RIS ML FHGT G BTG DICYRITAT IR SIS

8) JAMPASTTT U Bgl Teh Foscrgld DIATTT VR STcilcs

In CaO, so as to achieve the stable octate :

1) Ca atom transfer its two valence electrons to the same oxygen atom.

2) Ca atom transfer its one valence electron to the same oxygen atom.

3) Oxygen atom transfer its two valence electronics to the same calcium atom
4) Oxygen atom transfer its one valence electron to the same calcium atom

g) gravr, fagreaar, MeRat
'q Aet’ & fha geler proren frrchielt wsmmoT oM ?
31) 92 ¥ goMKie C* F 370]
) €.0339309 X 9033 3] (HIUATE yeTf)
®) 44y.¢Y I g Fe
) 9 cm3 MHRIAFAT THUR HIVIATE gereifa Tepor 3o
R SR :
9) 37 37 § ) § 3T & 3) F 3T s ®) § 3T a1

I mole is equal to which quantity from the following?

a) 12 grams of C'?atoms

b) 6.022137 X 10* atoms (of any material)

c) 555.85 grams of Fe

d) atoms of any material in a volume of 1 cm?

Answer Options :

I)aandb 2)bandc 3)candd 4)dand a
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) IfarT WA & gelerie Mt Hefe 3R,
9) waren ugrifly 903 Hiex mefiet .
Q) DIV UgrITeaT q 9 HelleT XURAwEA
3) 9 mol FelleT PIURATE UG STUhUI FHeE
8) TR ueTIfET Sfodes aegATt 903 Faefier C- 92 gergeandier sl detet g,
2)  The Avogadro number is related to
1) Density of a.substance in 10° m
2) Molecules in one gram of any material
3) Atomie particles in 1 mol of any substance
4) Atomic mass of a substance in comparison with 10° grams of C-12 atoms.
3) 90 I IiIgwY gRIGSTHE) Hy, #Fe G 3101 TioaMI RGNS ... el 3R,
q) 90 )Y 3) 9 8) 0.9
3) 10 gof gaseous hydrogen H,, at NTP/STP contain............... mol of hydrogen.
1) 10 2)5 3)1 4) 0.1
8) 3379 I (UL aRGAH 9& g/mol) 37 4R I SfifadsH (XU agAT 32 g/mol) T fiRicees. @
QM I SR ThHaIN IR SR aRd e O] e I Aie thaed fodt ?
9) 0.3 ) & 3) 0.9509 8) g
4) 32 g of methane (molar mass 16 g/mol) is mixed with 192 g of oxygen (molar mass 32 g/
mol). Presuming that these gases do not react with each other, what is the mole fraction of methane?
1)0.25 2)6 3) 0.167 4) 4
Y4) SR 9.0 Al 3Cef IR IMMBRAM HAMD AgHE M7 GETeT 2.8 Lit 3R TR Fdeny ar fRRi® R
......... 3l
9) 0.0821 atm Lit mol' K! ) 8.314 x 107 Joules K-' mol!
3) 82.1 atm Lit mol! K*! ) 8.314 erg K mol!
5) If one mole of an ideal gas occupies 22.4 Lit at Standard Temperature and Pressure, then the
value of the universal gas constantR is ............
1) 0.0821 atm Lit mol'K"! 2) 8.314 x 107 Joules K! mol’!
3) 82.1 atm Lit mol! K! 4) 8.314 erg K mol"!
&) 0.90 M Si@r HCI gravmar pH SIeuariTe! Elefieidd! HIoreT TN Feer aroRrer ?
1) pH=1log,, (1.0x107) 2)pH=1log (1.0 x 10"
3) pH=-log,, (1.0x107) 4) pH=-log , (1.0 x 10")
6)  Which of the following mathematical relationships should be used to calculate the pH of a 0.10M
aqueous HCl solution ?
1) pH=1log (1.0x 10™) 2) pH =1log (1.0 x 107
3) pH =-log, (1.0 x 10) 4) pH = -log, (0.10 x 10")
©) 1.5M H,SO, =1 10 dm’ SrEvmarg 1.0N, H,SO, = /v - gd1eT ?
q) feerean g 5 dm? aoft arem ?) fetean gravma %% 9 H,SO, Blerd
3) fetean graumd 20 dm? aroft |red 8) foiean gravmd aus 39 H, SO, =1e

TERTE AT ARRY HaT GEuRIet A : /=g s/ ¢
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How is 1.0N H_ SO, solution is prepared from 10 dm’ of 1.3M H_S0, solution ?
1) By adding 5 dm® of water to it 2) By adding 294 g of H, SO, toir
3) By adding 20 dm? of water to it 4) By adding 174 g of H_SO, to it

9¢0 ¥9 3Rifesd 3t (CH,COOH) 3foT a¢o ¥ uroft (H,0) TeHepId fH-fesel. TR Siletedl vl
Afedw IrrATar At HaH .. SADT IR,

[H=1,C=12,0=16]

9) 0.33 ) 9.0 3) 04 %) it PR TR
180 g of acetic acid (CH,COOH) is mixed with 180 g of water (H,0). The mole fraction onef
acetic acid in the resultant solution is

(H=1,C=12,0=16)

1) 0.23 2)1.0 3) 0.5 4) None of the above

1A fa=[a marg ¥t 1M NaCl, 1M KCl1 31for 1M RbCl =T STavTcl Fcaaut el HehaliTs! aTafaeT.
T80T BIOTT=IT AT U9 (nyy) 3T e 3R 37Ted.

9) NNa > nK >10Rb R) NNa <nK <0Rb

3) INa =NK =10Rb 8) ARICTI! PIUTCHET ATl

1A of electric current is passed through each 1M NaCl, IM KCl and 1M RbCl solutions separately
for Is. The correct relationship for the number of mol (n_) of the metals deposited is ......

Dn,>n >n, 2)n, <n <ng, 3)n, =n =n 4) None of the above

SicgT fadesetedT AIfSTH FARTSSAYT 900 A [ Hatg Q&Y . diRar mared dvell, @R (Na =23, Cl
=35.5)

9) 3 ¥, AIfeTA ISR F8T gt 3nfor 34,4 ¥, AR argen hUleaR Hr geel.

R) 23 7. WIfSTH HelleaR 8T gger ST 34y . FelN IREAT ISR HbRT Bger.

3)3 ¥ AIfsgT HereR (18T gisaT ofiftr qu.4 ¥, FARM IRGET 3fFIeaR P glset,

8) 3 ¥, AIfSyd PHleeR Fad glsel MO 99 ¥ FARM Il IIear bR arget.

When a current of 100 A is passed through molten sodium chloride for 965 s. then (NA =23, C1
=355

1)23 g)of sodium is deposited on anode and 35.5 g of chlorine gas is evolved at cathode.

2) 23 g of sodium is deposited at cathode and 35.5 g of chlorine gas is evolved at anode.

3) 23 g of sodium is deposited at cathode and 17.5 g of chlorine gas is evolved at anode.

4) 23 g of sodium is deposited at cathode and 71 g of chlorine gas is evolved at anode.

ST 8.8 39 HySOy 8 T SFRifeHICR SIavid 3R, TIegl <1 SIavirel SR 0.03Y N Steh! 31,

(3 %A : H=9, He =%, Ne =30, N=19%,0 =95, S=33,CI =34.4,, Ar=%0,, Ag = 90¢)
9q) 8 ) Q000 3) 8000 g) Q

4.9 g of H,SO, is present in V cm® 0.025 N solution of sulphuric acid, then V=...........

(Atomic weights: H=1,He=4,Ne=20,N=14,0=16,S =32, CI=35.5, Ar=40, Ag=108)
1)4 2) 2000 3) 4000 4)2

TERTE AT ARRY HaT gauRtet drt : 9= fasm/ 2%
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Ul AT fagelvond, Y aRifcHler 0.9 N TRfGH o ... gRiferier 0.4 N Tichrem
g aTSe quiau TR v,

9) 900 ?) 90 3) 40 8) Y

In a titrimetric analysis, 25 cm3 of 0.1 N HNO3 would react completely with ............ cm3 of
0.25 N KOH.

1) 100 2) 10 3) 250 4) 25

V, 0 Al V o iR R & .. o

9 + 4 ) -4 3) + ¢ 8) + 90
The oxidation state of Vin 'V, 07'4 is.
+5 2)-5 3)+4 4) + 10

© I9 IIgeY TG Ny dIieRuid ST ST Ygg K Ao ... . oHY 3P TThes 3R,

) 4§ ?) 99 3) Q8 8) 393.5
7 g of gaseous nitrogen N, occupies ........... dm? at 546 K and 2 atm.

1)5.6 2)11.2 3)224 4) 313.6
90 J9 agHY ERIGISFHE Hy, A SE SATM0T ACHIT SRS ... HieT 3T
1) 0 )Y 3) 1 8) 0.9
10 g of gaseous hydrogen H, at NTP/STP contain .............. mol of hydrogen.

1) 10 2)5 3)1 4) 0.1

2 atm g AT 4y K TOHMRT © I9 gRIH9 TG Ny 896 ... dm? 3dP 3.

q) 4.§ R) 993 3) 28 8) 393.5
7 g of gaseous nitrogen N, occupies ........... dm?® at 546 K and 2 atm.

1)5.6 2)11.2 3)224 4) 313.6
@refiorich BT e aieY SiEeT P

37)'s’ & vepep BIUIRIIE] Gealre egEIT G,

g) P’ & v g GOAUIAIat AN,

F) NA ' & Tobeb U7 HloTaelier S9d Vebeh avgArT Golad.

) Mole’ & 3% Hh 90 X 90 X 90 meter 3BT FHEA] ARG IIFITIT ST,
g1 T -

9) 37 3 § FeIFV 2) T E quew 3) G gV &) G gap

Which of the following statements are true ?

a) A unit '4' is used for mass of any subtance.

b) A unit 'p" is used to show density.

¢) A unit N, is used to show mass of atoms in a mole.

d) ‘Mole’ is-a unit used to show the particles in a specific 10 X 10 X 10 meter volume.
Answer Options :
1) a and b are correct 2)c and d are correct 3) All are correct 4) All are wrong

TERTE AT ARRY HaT gauRier JrHH : /=g s/ 30



9¢)

18)

i)

19)

0)

20)

R9)

21)

1)

For Private Circulation Only

e fRIa etaeed fFa demeft et s ?

9) TR ?) IR 3) YR ¥) IAY3TD
Faraday's Laws of electrolysis are concerned with
1) Equivalent weight ~ 2) Atomic weight 3) Molecular weight  4) Atomic number

FGUTIRIER 3RTeIed] MANeNesd ITuRARIG!, aufea divrarel feaeft @retietic! Fema I gt

Teheh /Tbep ... 2/ 81 3R/ 3TTeal.
q) T AU Q) th YA 3) Bk Hicterdl ) e e

On any day of the year, to use in laboratories at sea level the most correct concentration unit/s is

1) Only molarity 2) Only normality 3) Only molality 4) All of the above

EDTA erIcea1 ogean fig g EDTA ...... Sfedhex amoas enee S,

9) AADIER Q) B 3) Rrs-s 9. JgaguT
The end point for an EDTA titration is usually found by using a/an ...... indicator.

1) metallochromic 2) redox 3) acid-base 4) precipitates
AT dT6 STede sardiel argd! fgreT:

q) e Q) Tt Bt

3) TIfad & et ) TT dred IO HoR Y B

With the increase in temperature, the solubility of gasesin a liquid:

1) increases 2) decreases

3) is not affecte 4) first increases and then decreases

4) HifoIeh TARFLMRST — STEvT, AU, hiscRITh

THHBIT PICHIT RTCIAT SHETER FHYSH BG GItAsHI0l SRdiel OR T F9YSH fHer Ferar
qiRUTH T : @, 3b, ¥c
) & ¥, 3 )38 3)8, & ¢ 8) IRICTI! PIUTE! ATer

Calculate the Miller Indices of the Face having the following intercepts with the three axes
perpendicular to each other :

2a, 3b, 4c

1)6,4,3 2)2,3,4 3)4,6,8 4) none of the above

ATCAVHIGTIT derdraT f2var I fedhad Sauarrd! Wieiietid! DIV STAR HarH 3Tg ?
9) Rt (omeft) derht 2.0% Afead e q0 ffFe e dar.

Q) Rt (3Meft) derlt 2.0% Afead wEHeHer 0 fAfie P ar.

3) fe=dt (3fieft) dordt 2,.0% Ui HEMeHe 90 e sy .

g) faxet (3eft) demlt 2.0% Ul wEiHerer 20 fAf e e dar.

TERTE AU ARRY HaT gauten dmt : 9= fasm/ 39
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For retention of green colour of cardamom during storage, which of the following treatment is
found best ?

1) Soaking green (wet) cardamom in 2.0% sodium carbonate for 10 minutes

2) Soaking green (wet) cardamom in 2.0% sodium carbonate for 20 minutes

3) Soaking green (wet) cardamom in 2.0% potassium carbonate for 10 minutes

4) Soaking green (wet) cardamom in 2.0% potassium carbonate for 20 minutes

GTefierdhl PIU 'cP’ TehRedT arg Jefter e 3Ry erhd g ?

q) o Tsfawge arg et 3. Q) o 3R 3.

3) ot U e, g) <t gdta ary weft o,
Which of the following CANNOT be a characteristic of a ‘cP’ type of air mass?
1) It is a continental air mass. 2) It is moist.

3) It is cold. 4) Itis a polar air mass.

foperar TR Ufgern Frm aremeft FeEfed s -
9) TR vaTg 3T fSwgfect

R) TRIR TETE, YR AT Tehmsrell

3) SIS Feted, fewrgfifeact anifor fRuciear deyia Yepmr

8) AU PEE AN

Fick’s first law of diffusion is related with -

1) diffusion flux and diffusivity

2) diffusion flux, diffusivity and concentration

3) diffusion flux, diffusivity and concentration with respect to position
4) None of the above

3T TR, ...

q) PIUATE AT 9 Alerd ! HIHAT &l S0R DIVATE! IRIEIT TThOIYae! 3R Stegl aRL FHT ATIHTT 37Ifr
QISTAR. AT,

Q) PIUATE IR Ul Hicorel o SR PIVATE! I oIS 3R,

3) 9 fohell T STPRAM ¢ TR PIURATE! 9 fpell IRIIT STPRAM Selh IR,

8) aeThT AT

According to Avogadro's hypothesis ........

1) the volume of 1 mole of any gas is same as the volume of any other gas when the gases are at
same temperature and pressure.

2) the weight of one mole of any gas is same as the weight of any other gas.

3) the volume of 1 kg of gas is same as volume of any other 1 kg of gas.
4) None of the abov

9) oo R) P 3) UaeR %) SHIN
Fluorescence test is used as test for identification of ..........
1) Tablets 2) Capsules 3) Powders 4) Emulsions

TERTE AT ARRY HaT gEuRiet - /g s/ 32
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TETEN §d a1 arget Fe fhar HTh aRUANITG! TUMRlGR STeRGRI GehetodTea giciiell Fgurdia;

q) $egIA Q) aifdmr 3) TeAfdm 8) e
The act of forcefully pushing a liquid or gas through a system to clean or clear it is called:
1) elution 2) washing 3) flushing 4) partitioning

STACIIITEY, HAHFIU0 dToRel SUR ERIE ... 3.

9) AfSITT RIIhE Q) AT FEFT

3) AT Fethe ) AT TRIE

In the diazotization, the most commonly used titrant is ...........

1) Sodium thiosulphate 2) Sodium carbonate
3) Sodium sulphate 4) Sodium nitrite

Weve fhaee=me ..., e BIUIRI N6 IRGUIRATS! Feiferct / fFAsiges araoft et ST,

9) STATEROT Q) gt 3) P %) UbforT AT
Sterility testing is done to prevent the contaminations by ............. in parenteral preparations.
1) Atmosphere 2) Microbes 3) Particles 4) Packaging materials

STIRAIShICD YL TATET ...

9) T fIgae aroReT ST ) IYH Yo figraed  amRel ST,

3) %eh UG fOgEad aTaRell STl 8) fagramra s aTiRel ST 9Tdhd ATt
In isocratic elution technique.......

1) The same slovent is used 2) The same solvent composition is used
3) Only one solvent is used 4) Mixture of solvent cannot be used

Tq-foifeps pRCHTh IR 3menRa a7e:
9) foeraT BRI Q) lgEHET BRI 3) fenedar drIqr Q) g

Gas-liquid chromatography is based on:
1) Beer’s law 2) Lebuc’s law 3) Piobert’s law 4) Henry’s law

fRegei -t speIThed fRR eoT 31ie:

9) TF-UIeR Q) galg

3) A-gdiar anfdr g Qe 8) -Gt fobar ggefier et

The stationary phase in reverse-phased chromatography is :

1) non-polar 2) polar

3) both non-polar and polar 4) neither non-polar nor polar

T TR Tl R 3TTe:

9) IR ?) NMR 3) FTIR ) UV-Vis spectroscopy
Raman spectroscopy is complementary to:

1)IR 2) NMR 3)FTIR 4) UV-Vis spectroscopy

TERTE AU ARRY HaT gauten dmt : 9= fasm/ 33
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UTR SPIHCHITH & T ThR 3T

9) 9MNUT HIHCITH! Q) 9NYUT IR 3) U HeHTh ) RO PECHTH
Paper chromatography is a type of :

1) absorption chromatography 2) adsorption chromatography

3) partition chromatography 4) retention chromatography

9) o ?) Tt 3) OCRRE SIEs 8) ofRRAIRA
The sample cell in an IR spectrophotmeter is made up of ..........
1) Glass 2) Quartz 3) Potassium bromide 4) polystyrene

q) gei ?) AMUR 3) e gag 8) FAPA ATD
In normal phase chromatography, the stationary phase is ...........
1) Polar 2) Nonpolar 3) Moderately polar 4) Weak adsorbent

GLC wefiel gusRumd @ .......... 3.

9) emsor R) favre™ 3) SR YaATiof g) Siel gRHre &t
The principle of sepearation in GLC s ..........
1) Adsorption 2) Partition 3) Ion exchange 4) Gel permeationb

STRA AdfieT foRel fRR eTaveT TEad: PV HHRH T I HRUIRITS! aTaRet! Siid ?

9) PFPHIT SRR ?) ufFeald

3) iffe A=t Q) FeFaRel SR

The chiral stationary phase in GC is mainly used for the separation of which kind of components?
1) Conformational isomers 2) Enantiomers

3) Geometric isomers 4) Structural 1somers

STeRIfe frve oTg

9) Amax = FH I FSps Rie (A1 foge) ) Amax o 3= So1t S e (&1 fome)

3) et frre amfor &1 fRrre Qivgt %) Amax T PIUCE! e ATt

Bathochromic shift is :

1) Shift of Amax to less energy side (red shift)

2) Shift of Amax to higher energy side (blue shift)
3) Both red shift and blue shift

4) No shift in Amax

GTefieTdehl PIoTT oITHNYT TGehd TR 37T ?

9) weRAg 3T fefeeetom gt

R) WIR ugdll

3) Terafad Sy emffanfon agd

¥) TMesuaTe Hfshar fdhar geadt i SRIEfanice gg

TERTE AU ARRY HaT gauRter dm : 9= fasm/ 3
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20) Which of the following are types of gravimetric methods?
1) Colorimetry and Distillation methods
2) Diffusion methods
3) Electrogravimetry and Thermogravimetric methods
4) Filteration and Isogravemetric methods

29) Iy FrevaRIe: Grefleid PIowdt el ugd =g ?
q) TSR Q) IRAIU Tsetel! I WadH

3) gutzeit Ugd g) W fefeeaism

21) Which of the following is NOT the classical method for extraction of poisons?
1) electrodialysis 2) inductively coupled mass spectrometry
3) gutzeit method 4) steam distillation

AERTE AT ARRY HaT gauRter dmt : 9= fasm/ 34
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ATIARTA

IR — (9) AT ARV -Telged g AR

q) Jelged, GG G Ao
9-9 - 3-Y 8% 4-9 &=R V-9 -9 R-19 90-9
99-R 9R-19 3-9 98- Q4= 96—% Q-3 Cc-9 QR-3 R0-3
R9-R Q-3 R3-19 -

?) 3mmad Ao

9-3 -8 3-8 8- Y=g g3  ©-8  ¢-3 -3  90-9

3) SURTET, AHEAG

- -8 33 ¥-3 4= &3 -3 ¢=3 ’-3  90-3
99-9  92-%  93-  A8-3  9Y-¥  9§-3 q0-3  9¢-3  9%-9 = 20-3
=¥ W= W-3 W-9 Y- 2¥-9 W-3  A-3 R-3 30-3
31— 3-8 33-3 383 383 3% 309 3¢9 R} ¥O-¥®
89-3  8-9 ¥3-9  ¥8-¥  8Y=3  YE-9 . BO-9

¥) grgur. fAeregdar, ARl
9-9 -3 3-R ¥—19 SI=9 E= V-3 ¢-9 R-3 90-2
99-3 9—- 93-9 9¥-19 94— 9g—19 909—* 9¢-19 9R-3 ”0-19
R9-2

) Y TARFIRT — S1aUl,  ATEvdT, hINeIUThI
9-9 -9 3-R 8-3 4—9 &= 9v—-9 -9 R- 90-2
99-9% 9R-9 93-19 98- 94-3 9%—9 Q0-2 9¢-R 9R-19 R0-3
R9-2
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